Problema 1 Resolver las siguientes inecuaciones:

2 _ _
T 2z 15§0, r—1 >0

z—1 22 4+3x+2

Solucion:
22 —2r—15

< —0, — 1
20— (—o0, -3 UL,

r—1
—— > 0= (—-2,-1)uUl
Problema 2 Resolver:
1. 2° 4+ 324 — 423 — 1222+ 324+ 9=0
r+1 1 oz
" 244 -5 z+5 r-—1

Solucion:

12 +32% —42% — 1202432 +9=0=2=-3,2==+1, 2 = +£/3

z+1 1 oz
Cx244x -5 xz+5 ax-—1

— x = —95,372281323, x =0,3722813232

Problema 3 Calcular:

. Ve+1l—yr—-1=1

. { 22— 22 =1

rT+y=2
Solucion:
1. \/ZE+1—\/SU—1—1:>Z‘—§
x1 = V7 +4=6.645751311
5 22 —2% =1 ) wn= N — 2 = —4.645751311
"l zty=2 To =4 — /7 = 1.354248688

Y2 = V7 —2 = 0.6457513110
Problema 4 Calcular:
1. log(z? +2) —logx = 1

2. 4149t _1=0



Solucién:
1. log(2? +2) —logz = 1 = x = 0,2041684766, = =9,795831523
2. 4771427 1 =0= z=—0,2715533031

Problema 5 Resolver el siguiente sistema:

20— y+ 2z2=1
x+ y— z2z=3
3z+ 2y+ z=5

Solucion:

20— y+ 2z=1 1
z+ Y- z=3 = y = A
3z+ 2y+ =z2z=5






